0002142187587999

0O hMERZXS 6—0—>

2015 47 ekl - T2

2 1 Ma2+y?i—6r+ay+4=0LOEAG, DIZBT3HEEE2Z LT3, FAOMNLIDOMIGIWE 2R
DEFERD 5L, HENTETHEIEDOHERZ y=mzx, HEE2B&$5. £/, ZOoMHOhLE CETS.

0
(1) a= '63%.3 3
2) Comtgad (| « [, [ 7 |)Ths.
(3) Eefit £ DEFIE [ZA] Ch2r ~2
(4) AOBC oL /[ 7 | THB.
JET5_, 5
B) m="———Tdh5.
T,

1

MEANREREZ- LY. 52+1°-6-5+a-1+4=0 .. a=0

7

@ AaoR it (x-3)Y+Y¥*=5 £%305 Pz C(3.0)

7

(M (1=3%+y*=5 Lag A5 1) &173 38R 017

Do (5-3)(x=3)+1-Y=6 &7 L: §Y=-22+ (1 ftﬁfli_—_g_a
@ {#2eB(a,b)egde Bufllog &

B+b—ba+4 =0 -0

AR L D

ot dERR G (a-0(=-3)+bY =5 ...@

chav B geior, -3a-3)=5 o= &

25 25

OritAlz bekoz . b=t= (REAEIRFI0G (a,;,):(% _3_)

S TE 'Z‘E) €F').  AOBC= %.3.%5;15

3@ 3
—_—

(5) Woa,bt Aol
295
3

= 4 : 5
M= eRe3ar, ms= % 5
- i

7




